
T541060-T541062 

 

 

 

 

 

Parts List 
Picture description QTY 

 Side Tube  2 
 Passenger  side Bracket 3 

 Driver  Side Bracket 3 

 
T- Bolt 6 

 M8 X 20MM Flange Nuts 18 

Tools: M13 Socket Wrench.  

 

 

 

 

 

 

 

 

 

  

 

Align and mount the middle 
and rear brackets with M8 

 

Shown Passenger middle and Rear 

Secure the M8 Nuts 

Shown Passengers front 

INSTALLATION  INSTRUCTIONS 
4” Side Bar for 2015+ F-150  

1.Attach the passenger front bracket to the 
mounting place then secure with M8 nuts.  DO NOT 
TIGHTEN AT THIS TIME 

2.Attach the passenger middle and rear brackets to 

the mounting place then secure with M8 nuts. DO 
NO TIGHTEN AT THIS TIME 



T541060-T541062 

 

  

 

 

  

  

 

 

5.Repeat steps 1-4 for Driver side installation. 

 

 

3.Align the side tube on top of the bracket 4.Inset the tube lock bolt into the track then secure 
the M8 flange nuts. 
CHECK THE SIDE BAR BALLENCE AND TIGHTEN ALL 
THE FLANGE NUTS  

   

COMPLETE INTALLATION. 

 
Page 2 

Page 1 


